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Fiche révision : Les fractions 

Exercice 1:  

𝐴 =
4

6
=

2 × 2

3 × 2
=

2

3
                                      

 

𝐵 =
12

21
=

4 × 3

7 × 3
=

4

7
                         

 

𝐶 =
27

18
=

3 × 9

2 × 9
=

3

2
 

 

𝐷 =
18

6
=

3 × 6

1 × 6
=

3

1
= 3                                

 

 𝐸 =
81

36
=

9 × 9

9 × 4
=

9

4
                                                                  

 

𝐹 =
20

12
=

5 × 4

3 × 4
=

5

3
 

 

 

Exercice 2:  

𝐴 =
7

8
+

3

8
=

7 + 3

8
=

10

8
=

5 × 2

4 × 2
=

5

4
                  

 

 𝐵 =
5

9
−

3

9
=

5 − 3

9
=

2

9
                

 

  𝐶 =
2

7
+

15

7
=

2 + 15

7
=

17

7
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𝐷 =
7

3
−

5

3
=

7 − 5

3
=

2

3
                                        

𝐸 =
16

13
+

4

13
=

16 + 4

13
=

20

13
                               

𝐹 =
1

6
+

5

6
=

1 + 5

6
=

6

6
= 1 

 

 

Exercice 3: 
 

𝐴 =
1

3
−

2

9
=

1 × 3

3 × 3
−

2

9
=

3

9
−

2

9
=

3 − 2

9
=

1

9
 

 

𝐵 =
2

5
−

3

4
=

2 × 4

5 × 4
−

3 × 5

4 × 5
=

8

20
−

15

20
=

−7

20
 

 

𝐶 =
4

3
+

2

5
=

4 × 5

3 × 5
+

2 × 3

5 × 3
=

20

15
+

6

15
=

26

15
 

 

𝐷 =
1

3
+

3

7
=

1 × 7

3 × 7
+

3 × 3

7 × 3
=

7

21
+

9

21
=

16

21
 

 

𝐸 =
5

4
+

2

7
=

5 × 7

4 × 7
+

2 × 4

7 × 4
=

35

28
+

8

28
=

43

28
 

 

𝐹 =
6

2
−

4

5
=

6 × 5

2 × 5
−

4 × 2

5 × 2
=

30

10
−

8

10
=

22

10
=

2 × 11

2 × 5
=

11

5
 

 

 

Exercice 4: 
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𝐴 =
2

7
×

3

5
=

2 × 3

7 × 5
=

6

35
 

 

𝐵 =
1

3
×

7

2
=

1 × 7

3 × 2
=

7

6
  

 

𝐶 = −
3

2
×

−5

−7
= −

3 × 5

2 × 7
= −

15

14
 

 

Exercice 5:  
 

𝐴 =
4

3
∶

7

5
=

4

3
×

5

7
=

4 × 5

3 × 7
=

20

21
 

 

𝐵 =
5

2
∶

6

7
=

5

2
×

7

6
=

5 × 7

2 × 6
=

35

12
 

 

𝐶 =

1
3
2
5

=
1

3
×

5

2
=

1 × 5

3 × 2
=

5

6
 

 

𝐷 =

13
7
5
2

=
13

7
×

2

5
=

13 × 2

7 × 5
=

26

35
 

Exercice 6:  
 

𝐴 =
1

4
+

2

3
×

3

4
=

1

4
+

2 × 3

3 × 4
=

1

4
+

2

4
=

3

4
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𝐵 =
7

15
−

2

15
×

9

4
=

7

15
−

2 × 9

15 × 4
=

7

15
−

2 × 3 × 3

3 × 5 × 2 × 2
=

7

15
−

3

10

=
7 × 10

15 × 10
−

3 × 15

10 × 15
=

70

150
−

45

150
=

25

150
=

1 × 25

6 × 25
=

1

6
 

 

𝐶 = ൬
2

3
−

3

2
൰ × ൬

1

3
−

2

15
൰ = ൬

2 × 2

3 × 2
−

3 × 3

2 × 3
൰ × ൬

1 × 15

3 × 15
−

2 × 3

15 × 3
൰

= ൬
4

6
−

9

6
൰ × ൬

15

45
−

6

45
൰ = −

5

6
×

9

45
= −

5 × 9

6 × 9 × 5
= −

1

6
 

 

 

 

  

 


